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MATH TEST

Name:

Sean has 28 fish in his boat. She puts them
into b equal groups. How many FISl'l are feFtZ

$35 is divided equa”y among 7 children.

How mucl’x money will eac"u person getz

Dave has 473 marbles. He puts themin b
pifes. Aloout |’10w many marlofes are in eacl’x

pife?

Estimate b x 389 =

80 girls are in 4 classes. How many are
in each class?

Elon sold 6 shirts. His friend sold 10 times
as many shirts as Elon. How many shirts

dicl F_]on's Friencl se“2

2

10

1

12

Date:

Jane Iooug'wt 4 video games that cost $4 each.
How much did he spend inall?

The movie theater put 64 drinks in rows of
8 drinks each. How many drinks are in each
row?

Steve has 6 rows orapples. There are 7
appfes in each row. How many appfes does
Steve kave in a“g

2,600:5=

Anne l:rought 3 new hats for $78 each. How
much money did she spend?

2x3x2=




